International Journal of Mathematical Archive-2(7), July - 2011, Page: 1034-1039 JMA Available online through www.ijma.info ISSN 2229 - 5046

SEMI SYMMETRIC NON-METRIC S-CONNEXION ON AN ALMOST UNIFIED PARA-NORDEN CONTACT METRIC MANIFOLD

¹Shashi Praksh*, ²Nutan Kumari and ³S. K. Chaubey

^{1,2}Department of Mathematics, Faculty of Science, Banaras Hindu University, Varanasi – 221005, INDIA

³Department of Mathematics, Dr. Virendra Swarup Memorial Trust Group of Institutions, Unnao, INDIA

E-mail: shashiprksh8491@gmail.com

(Received on: 06-06-11; Accepted on: 29-06-11)

ABSTRACT

 \emph{I} n 1924, Friedmann and Schouten have introduced the idea of semi-symmetric linear connexion in a differentiable manifold. In 1970, semi-symmetric connexions were studied by K. Yano in a Riemannian manifold. In 2008, S. K. Chaubey and R. H. Ojha defined a new semi-symmetric non metric and quarter symmetric metric connexion. The purpose of the present paper is to study some properties of semi-symmetric non-metric S-Connexion on an almost unified para-norden contact metric manifold and the form of curvature tensor R of the manifold relative to this connexion has been derived. It has been shown that if almost unified para-norden contact metric manifold admits a semi-symmetric non-metric S-connexion whose curvature tensor is locally isometric to the unit sphere $S^n(1)$, then the conformal and conharmonic curvature tensors with respect to the Riemannian connexion are identical iff $n-\lambda^2(n+2)=0$. Some other useful results have been obtained, which are of great geometrical importance.

2000 Mathematical Subject Classification: 53C15, 53C55.

Keywords and Phrases: C^{∞} -manifold, almost unified para-norden contact metric manifold, semi-symmetric non-metric S-connexion, curvature tensors.

1. INTRODUCTION:

We consider a differentiable manifold V_{∞} of differentiability class C^{∞} . Let there exist in V_{∞} a tensor F of the type (1, 1), a vector field U, a 1-form u and a Riemannian metric g satisfying

(1.1)
$$\bar{X} = \lambda^2 X - u(X)U$$

(1.2)

(1.2)
$$\overline{U} = 0$$
(1.3)
$$g(\overline{X}, \overline{Y}) = \lambda^2 g(X, Y) - u(X)u(Y)$$
Where
$$F(X) \stackrel{\text{def}}{=} \overline{X}$$

Where

And λ is a complex constant.

Then the set (F, U, u, g) satisfying (1.1) to (1.3) is called an almost unified para-norden contact metric structure and V_n equipped an almost unified para-norden contact metric structure is called an almost unified para-norden contact metric manifold [4].

Remark 1.1: An almost unified para-norden contact metric manifold is an almost para contact metric manifold [2] or an almost Norden contact metric manifold [1] according as $\lambda=\pm 1$ or $\lambda=\pm 1$ respectively.

Agreement 1.1: All the equations which follow will hold for arbitrary vector fields $X, Y, Z \dots$ etc. It is easy to calculate that in V_{α}

$$(1.4) u(U) = \lambda^2$$

$$(1.5) g(X, U) \stackrel{\text{def}}{=} u(X)$$

$$(1.6) u(\bar{X}) = 0$$

Corresponding author: \(^1Shashi Praksh^\), *E-mail: shashiprksh8491@gmail.com

Agreement 1.2: An almost unified para-norden contact metric manifold, will always be denoted by V_{∞} .

Agreement 1.3: V_n satisfying

$$D_{X}U = F(X) \stackrel{\text{def}}{=} \bar{X}$$

will be denoted by V_n

In V_n^* , we can easily shown that

(1.2)
$$(D_X u)(Y) = {}^t F(X,Y) = (D_Y u)(X)$$

where

$$(1.3) 'F(X,Y) = g(\overline{X},Y) = g(X,\overline{Y})$$

Definition 1.1: An affine connexion B is said to be metric if

$$\mathbf{B}_{\mathbf{X}}\mathbf{g}=\mathbf{0}$$

The affine metric connexion B satisfying

$$(B_X F)(Y) = u(Y) X - g(X, Y)U$$

is called metric S -connexion [5]

A S -connexion B is called semi-symmetric non-metric S -connexion (11) iff

$$(1.6) B_X Y = D_X Y - \mathbf{u}(Y)X - \mathbf{g}(X,Y)U$$

Also

$$(B_Xg)(Y,Z) = 2u(Y)g(X,Z) + 2u(Z)g(X,Y)$$

which implies

$$S(X,Y) = u(Y)X - u(X)Y$$

where S is the torsion tensor of connexion B.

The curvature tensor with respect to the semi-symmetric non-metric connexion is defined as

$$\widetilde{R}(X,Y,Z) \stackrel{\text{def}}{=} B_{\mathcal{H}} B_{\mathcal{Y}} Z - B_{\mathcal{Y}} B_{\mathcal{H}} Z - B_{[\mathcal{H},Y]} Z$$

Using (1.12) in (1.14), we get

(1.9)
$$\tilde{R}(X,Y,Z) = K(X,Y,Z) - \alpha(X,Z)Y + \alpha(Y,Z)X - g(Y,Z)(D_XU - u(X)U) + g(X,Z)(D_YU - u(Y)U)$$

where

(1.10)
$$\alpha(X,Y) = (D_X u)(Y) + u(X)u(Y) + g(X,Y)u(U)$$

and

$$(1.11) K(X,Y,Z) \stackrel{\text{def}}{=} D_X D_Y Z - D_Y D_X Z - D_{[X,Y]} Z$$

where \tilde{R} and K be the curvature tensors with respect to the connexion B and D respectively.

Using (1.7) in (1.15), we get

(1.12)
$$\tilde{R}(X,Y,Z) = K(X,Y,Z) - \alpha(X,Z)Y + \alpha(Y,Z)X - g(Y,Z)(\bar{X} - u(X)U) + g(X,Z)(\bar{Y} - u(Y)U)$$

Let us consider that $\tilde{R}(X,Y,Z) = 0$ then above equation becomes

$$(1.13) K(X,Y,Z) - \alpha(X,Z)Y + \alpha(Y,Z)X - g(Y,Z)(\overline{X} - u(X)U) + g(X,Z)(\overline{Y} - u(Y)U) = 0$$

Contracting above equation with respect to X, we get

$$Rtc(Y,Z) - \alpha(Y,Z) + n\alpha(Y,Z) + \lambda^2 g(Y,Z) + g(\overline{Y},Z) - u(Y)u(Z) = 0$$

Using (1.16) in (1.20), we get

(1.15)
$$Ric(Y,Z) + (n-1)\{'F(Y,Z) + u(Y)u(Z) + \lambda^2 g(Y,Z)\} + g(\bar{Y},\bar{Z}) + g(\bar{Y},Z) = 0$$
 which yields

(1.16)
$$rY + n(\bar{Y} + \lambda^2 Y) + (n-2)u(Y)U = 0$$

Contracting Y in the above equation, we get

(1.17)
$$R = -\lambda^2 (n-1)(n+2)$$

where Ric and R are Ricci tensor and scalar curvature respectively.

The Projective curvature tensor W, conformal curvature tensor Q, Conhormonic curvature tensor L and Concircular curvature tensor C in a Riemannian manifold $V_{\mathbb{R}}$ are given by [3]

(1.18)
$$W(X,Y,Z) = K(X,Y,Z) - \frac{1}{n-1} [Rtc(Y,Z)X - Rtc(X,Z)Y]$$

(1.19)
$$Q(X,Y,Z) = K(X,Y,Z) - \frac{1}{n-2} [Ric(Y,Z)X - Ric(X,Z)Y + g(Y,Z)r(X) - g(X,Z)r(Y)] + \frac{R}{(n-1)(n-2)} [g(Y,Z)X - g(X,Z)Y]$$

$$L(X,Y,Z) = K(X,Y,Z) - \frac{1}{n-2} [Ric(Y,Z)X - Ric(X,Z)Y + g(Y,Z)r(X) - g(X,Z)r(Y)]$$

and

(1.21)
$$C(X,Y,Z) = K(X,Y,Z) - \frac{R}{n(n-1)} [g(Y,Z)X - g(X,Z)Y]$$

where

$$(1.22) W(X,Y,Z,T) \stackrel{\text{def}}{=} g(W(X,Y,Z),T)$$

$$(1.23) 'Q(X,Y,Z,T) \stackrel{\text{def}}{=} g(Q(X,Y,Z),T)$$

$$(1.24) 'L(X,Y,Z,T) \stackrel{\text{def}}{=} g(L(X,Y,Z),T)$$

$$(1.31) (C(X,Y,Z,T) \stackrel{\text{def}}{=} g(C(X,Y,Z),T)$$

2. CURVATURE TENSORS:

Theorem 2.1: If almost unified para-norden contact metric manifold admits a semi-symmetric non-metric S -connection whose curvature tensor is locally isometric to the unit sphere $S^n(1)$, then the conformal and con-harmonic curvature tensors with respect to the Riemannian connexion identical iff

$$n - \lambda^2(n+2) = 0$$

Proof: If the curvature tensor with respect to the semi-symmetric non metric S-connexion is locally isometric to the unit sphere $S^{\infty}(1)$, then

(2.1)
$$\tilde{R}(X,Y,Z) = g(Y,Z)X - g(X,Z)Y$$

Using (2.1) in (1.18), we get

$$(2.2) g(Y,Z)X - g(X,Z) = K(X,Y,Z) - \alpha(X,Z)Y + \alpha(Y,Z)X -g(Y,Z)(\overline{X} - u(X)U) + g(X,Z)(\overline{Y} - u(Y)U)$$

Contracting above with respect to X, we get

$$(2.3) Ric(Y,Z) = (n-1)\{g(Y,Z) - {}'F(Y,Z) - u(Y)u(Z) - \lambda^2 g(Y,Z)\} - g(\overline{Y},\overline{Z}) - g(\overline{Y},Z)$$

which implies

$$(2.4) rY = -u(\overline{Y} - Y) - (n-2)u(Y)U - (\lambda^2 u + 1)Y$$

Contracting Y in the above equation, we get

(2.5)
$$R = (n-1)\{n-\lambda^2(n+2)\}$$

where Ric and R are Ricci tensor and scalar curvature of the manifold respectively. In view of (2.5), (1.25) and (1.26), we obtain the necessary part of the theorem. Converse part is obvious from (1.25) and (1.26).

Theorem 2.2: If almost unified para-norden contact metric manifold admits a semi-symmetric non metric S -connexion whose curvature tensor is locally isometric to the unit sphere S^n (1), then the concircular curvature tensor coincides with respect to the Riemannian connexion

$$n - \lambda^2(n+2) = 0$$

Proof: Using (2.5) in(1.27), we get

(2.6)
$$C(X,Y,Z) = K(X,Y,Z) - \frac{n-\lambda^{2}(n+2)}{n} [g(Y,Z)X - g(X,Z)Y]$$

which is required proves of the theorem.

Now, using (1.19) and (1.23) in (1.27), we get

(2.7)
$$C(X,Y,Z) = \alpha(X,Z)Y - \alpha(Y,Z)X + g(Y,Z)\overline{X} - g(X,Z)\overline{Y} - g(Y,Z)u(X)U + g(X,Z)u(Y)U + \frac{\lambda^{2}(n+2)}{n}[g(Y,Z)X - g(X,Z)Y]$$

Operating g both the sides of above equation and using (1.5), (1.9) and (1.31), we get

$$(2.8) 'C(X,Y,Z,T) = \alpha(X,Z)g(Y,T) - \alpha(Y,Z)g(X,T) + g(Y,Z)'F(X,T) - g(Y,Z)u(X)u(T) - g(X,Z)'F(Y,T) + g(X,Z)u(Y)u(T) + \frac{\lambda^{2}(n+2)}{n}[g(Y,Z)g(X,T) - g(X,Z)g(Y,T)]$$

Theorem 2.3: On a manifold V_{n_0} we have

(2.9a)
$$C(X,Y,Z,U) = \alpha(X,Z)u(Y) - \alpha(Y,Z)u(X) - \lambda^2 g(Y,Z)u(X) + \lambda^2 g(X,Z)u(Y) + \frac{\lambda^2 (n+2)}{n} [g(Y,Z)u(X) - g(X,Z)u(Y)]$$

(2.9b)
$${}^{\prime}C(U,Y,Z,T) = \alpha(U,Z)g(Y,T) - \alpha(Y,Z)u(T) - \lambda^{2}g(Y,Z)u(T) - u(Z)g(\overline{Y},T) + u(Y)u(Z)u(T) + \frac{\lambda^{2}(n+2)}{n}[g(Y,Z)u(T) - g(Y,T)u(Z)]$$

(2.9c)
$${}^{\prime}C(U,Y,Z,U) = \alpha(U,Z)u(Y) - \alpha(Y,Z)\lambda^{2} - \lambda^{4} g(Y,Z) + \lambda^{2}u(Y)u(Z) + \frac{\lambda^{2}(n+2)}{n} [\lambda^{2}g(Y,Z) - u(Y)u(Z)]$$

$$(2.9d) \qquad {}^{\prime}C(X,Y,U,U) = \alpha(X,Z)u(Y) - \alpha(Y,U)u(X)$$

$$(2.9e) 'C(\bar{X}, \bar{Y}, Z, U) = 0$$

$$(2.9f) \qquad {'C'(U,Y,\bar{Z},\bar{T}) = \alpha(U,\bar{Z}) \alpha(Y,\bar{T})}$$

Proof: Replacing T by U in (2.8) and using (1.4), (1.5), (1.6) and (1.9), we get (2.9a).

Replacing X by U in (2.8) and using (1.2), (1.4), (1.5), (1.6) and (1.9), we get (2.9b)

Replacing T by U in (2.9b) and using (1.4) and (1.5), we get (2.9c).

Replacing Z by U in (2.9a) and using (1.5), we get (2.9d).

Replacing X by \overline{X} and Y by \overline{Y} in (2.9a) and using (1.4), we get (2.9e).

Replacing Z by \overline{Z} and T by \overline{T} in (2.9b) and using (1.4), we get (2.9f).

Now, using (1.19) and (1.21) in (1.24), we get

$$(2.10) W(X,Y,Z) = \alpha(X,Z)Y - \alpha(Y,Z)X + g(Y,Z)\bar{X} - g(Y,Z)u(X)U - g(X,Z)\bar{Y} + g(X,Z)u(Y)U + u(Y)u(Z)X - u(X)u(Z)Y + \frac{n}{n-1}[g(\bar{Y},Z)X - g(\bar{X},Z)Y] + \frac{1}{n-1}[g(\bar{Y},\bar{Z})X - g(\bar{X},\bar{Z})Y] + \lambda^{2}[g(Y,Z)X - g(X,Z)Y]$$

Operating g both the sides of above equation and using (1.5) and (1.28), we get

$$(2.11) 'W(X,Y,Z,T) = \alpha(X,Z)g(Y,T) - \alpha(Y,Z)g(X,T) + g(Y,Z)g(\bar{X},T) - g(Y,Z)u(X)u(T) - g(X,Z)g(\bar{Y},T) + g(X,Z)u(Y)u(T) + u(Y)u(Z)g(X,T) - u(X)u(Z)g(Y,T) + \frac{n}{n-1}[g(\bar{Y},Z)g(X,T) - g(\bar{X},Z)g(Y,T)] + \frac{1}{n-1}[g(\bar{Y},\bar{Z})g(X,T) - g(\bar{X},\bar{Z})g(Y,T)] + \lambda^{2}[g(Y,Z)g(X,T) - g(X,Z)g(Y,T)]$$

Theorem 2.4: On a manifold V_{∞} , we have

(2.12a)
$$'W(X,Y,Z,U) = \alpha(X,Z)u(Y) - \alpha(Y,Z)u(X) + \frac{n}{n-1} ['F(Y,Z)u(X) - 'F(X,Z)u(Y)]$$

$$+ \frac{1}{n-1} [g(\overline{Y},\overline{Z})u(X) - g(\overline{X},\overline{Z})u(Y)]$$

(2.12b)
$$'W(U,Y,Z,U) = u(U,Z)u(Y) - \lambda^2 u(Y,Z) + \frac{\lambda^2 u}{n-1} y(\bar{Y},Z) + \frac{\lambda^2}{n-1} y(\bar{Y},\bar{Z})$$

$$(2.12c) \quad {}^{\prime}W(\overline{X},\overline{Y},Z,U) = 0$$

$$(2.12d) 'W(X,Y,U,U) = \alpha(X,U)u(Y) - \alpha(Y,U)u(X)$$

(2.12e)
$$'W(U,Y,Z,T) = \alpha(U,Z)g(Y,T) - \alpha(Y,Z)u(T) - u(Z)g(\bar{Y},T) + 2u(Y)u(Z)u(T)$$

$$-2\lambda^{2}g(Y,T)u(Z) + \frac{n}{n-1}g(\bar{Y},Z)u(T) + \frac{1}{n-1}g(\bar{Y},\bar{Z})u(T)$$
(2.12f)
$$'W(U,Y,Z,U) = \alpha(U,Z)u(Y) - \lambda^{2}\alpha(Y,Z) + \frac{\lambda^{2}}{n-1}[ng(\bar{Y},Z) - g(\bar{Y},\bar{Z})]$$

Proof: Replacing T by U in (2.11) and using (1.4), (1.6) and (1.9) we get (2.12a).

Replacing X by U in (2.12a) and using (1.2), (1.4), (1.6) and (1.9) we get (2.12b).

Replacing X by \overline{X} and Y by \overline{Y} in (2.12a) and using (1.6), we get (2.12c).

Replacing Z by U in (2.12a) and using (1.2) and (1.9), we get (2.12d).

Replacing X by U in (2.11) and using (1.2), (1.4), (1.5), we get (2.12e).

Replacing T by U in (2.12e) and using (1.4), (1.5) and (1.6), we get (2.12f).

ACKNOWLEDGEMENTS: First author is highly thankful to University Grant Commission, Govt. of India, New Delhi-110012, for providing financial support to carry out the present research work.

REFERENCES:

[1] S. D. SINGH AND A.K. PANDEY, On submanifold of co-dimension (m-n) of an almost contact metric manifold. Prog. of maths, Vol. 34, 43-49, (2000).

[2]I. SATO, On a structure similar to an almost contact structure I. Tensor, N.S., Vol.-30, 219-224, (1976).

[3] R. S. MISHRA, Structures on a differentiable manifold and their applications. Chandrama Prakashan, Allahabad (India), (1984).

[4] SHASHI PRAKASH AND S. D. SINGH, On an almost unified para-norden contact manifold. Ultra Scientist of Physical Sciences, Vol. 22(1)M, 27-30, (2010).

[5] R. H. OJHA AND S. PRASAD, On semi-symmetric metric S-connexion in a Sasakian manifold, Indian J. Pure and Appl. Math., Vol 16(4), 341-344, (1985).

[6] KOBAYASI S. AND NOMIZU K., Foundation of Differential Geometry, Vol. I, Reprint of the 1963 Original. Willely Classical Library, John Wiley and Sons, Inc., New York, (1996).

[7] DUGGAL K. L., Singular Riemannian structures compatible with π -structures. Can. Math. Bull., Vol. 12, 705-719, (1969).

[8] YANO K. AND AKO M., Almost analytic vectors in almost complex spaces, Tohoku Math, J. Vol. 13, 24-45, (1961).

[9] SASAKI S. AND HATAKEYAMA Y., On differentiable manifolds with contact metric structures, J. Math Soc. Japan Vol. 14, 249-271, (1962).

- [10] BOOTHBY, W. M., An Introduction to differentiable Manifolds and Riemannian Geometry, Academic Press, (1975).
- [11] R. H. OJHA AND S. K. CHAUBEY, On a semi-symmetric non metric and quarter symmetric metric connections, Tensor N.S., vol. 70, No.2, 202-213, (2008).
- [12] SHASHI PRAKASH AND S. D. SINGH, Tensors of the type (0,4) on an almost unified para-norden contact metric manifold. International Journal of mathematical analysis, Hikari Ltd., Vol.4, No. 14, 657-670, (2010).
